Ntec@ Service Estimate

1667 Watkins Rd
Columbus,0H,43207

us
Customer Service Request
Estimate # 896646 Service Request # 5818792
Customer CITY OF COLUMBUS (OH) Unit Information
Account # 10429 | Payment Terms NET 30 Customer Vebhicle #
Contact TONY FEATHERSTONE Model TA60
Email tfeathers@columbus.gov Chassis VIN # 3HAEUTAR4ML326185
Phone | Fax | Mileage
Mobile Unit Serial # 0321EL3279
Altec Representative Assy Serial #(FA) 037-76658191
Contact Brian Daniel Howell In-Service Date 03-Dec-2021
Email brian.howell@altec.com
Phone |Fax |
This Estimate Expires: 25-NOV-23
Notes:
Item | Description Hours Labor Material Expenses Total
1 ~INITIAL INCIDENT EVALUATION 2.00 $266.00 $0.00 $0.00 $266.00
2 NOTE: CUSTOMER HAS THE RIGHT TO REFUSE, IN 0.00 $0.00 $0.00 $0.00 $0.00
WRITING, THE PRELIMINARY DIELECTRIC TEST WITH
THE UNDERSTANDING THAT IF THE UNIT DOES NOT
PASS DIELECTRIC TEST AFTER REPAIRS ARE MADE,
THEY ARE RESPONSIBLE FOR ANY ADDITIONAL COSTS
OF FURTHER REPAIRS
3 ~PERFORM 1 YEAR PM INSPECTION PER ANSI 92.2 -- $675.00 $139.31 $0.00 $814.31
2009 SECTION 8.2.5 PER ALTEC'S MAJOR UNIT
DAMAGE GUIDELINES
4 ~PERFORM STRUCTURAL LOAD TEST PER ALTEC'S 1.50 $199.50 $0.00 $0.00 $199.50
MAJOR UNIT DAMAGE GUIDELINES (ADVISE IF
ADDITIONAL REPAIRS ARE NEEDED)
5 ~PERFORM DOT INSPECTION PER ALTEC'S MAJOR -- $190.00 $1.28 $0.00 $191.28
UNIT DAMAGE GUIDELINES (ADVISE IF ADDITIONAL
REPAIRS ARE NEEDED)
6 TROUBLESHOOT POSSIBLE DAMAGE TO OUTRIGGERS 1.00 $133.00 $0.00 $0.00 $133.00
7 TRAVEL TIME TO/FROM SUBLET LOCATIONS 4.00 $532.00 $0.00 $0.00 $532.00
8 (SUBLET) TROUBLESHOOT & REPAIR CHASSIS 0.00 $0.00 $0.00 $74,032.40 $74,032.40
DAMAGE (LABOR)
9 (SUBLET) TROUBLESHOOT & REPAIR CHASSIS 0.00 $0.00 $0.00 $110,672.20 $110,672.20
DAMAGE (MATERIAL)
10 | ~REPLACE DAMAGED S/S SIDE PACK 10.00 $1,330.00 $10,166.00 $0.00 $11,496.00
11 SUPPLIES AND ENVIRONMENTAL DISPOSAL FEES 0.00 $0.00 $0.00 $200.00 $200.00
12 | FREIGHT ESTIMATE 0.00 $0.00 $0.00 $1,623.29 $1,623.29
13 | REMOVE THEN REINSTALL FRONT OUTRIGGER 18.00 $2,394.00 $0.00 $0.00 $2,394.00
ASSEMBLY (REQUIRED IN ORDER TO REPLACE SIDE
PACK)
Totals 36.50 $5,719.50 $10,306.59 $186,527.89 $202,553.98

*This estimate is provided with the understanding that items may be discovered during the repair process that may require additional labor
and/or materials to repair. Examples would include, but are not limited to, hidden damages or items that were not clearly visible or known

V2 10/06/23

Page 1 of 2




at the time of estimate, damaged internal components, fasteners and pins that may be rusted, seized or broken.

**This estimate does not include City, County, State or Federal taxes.

***Transportation or towing of the vehicle is not included in the estimate unless specified.

****Freight charges are estimated and may be adjusted to reflect the actual cost incurred on the invoice.

Please sign below to authorize this estimate

Printed Name:

P.O.

Date:

Signature:

Would you like to keep salvageable
parts removed from the unit?

Yes

No

Altec Service Group Limited Warranty

Products rebuilt or repaired by Altec Service Group are warranted to be free from defects in material and workmanship at the

time of rebuild/repair subject to the following provisions:

8
8
8
8
8§

special, indirect, incidental or consequential damage) are expressly excluded.

Labor Coverage: For a period of six (6) months following the date of repair, no charge for labor shall be made for a repair or

replacement by the Altec Service Group.

Travel Coverage: For a period of thirty (30) days following the date of repair, no charge for travel shall be made for a repair or
replacement at the customers location by the Altec Service Group.
Parts Coverage: For a period of one (1) year following the date of repair, Altec will at its option, repair or replace any part

found to be defective in material or workmanship at the time of repair.

This warranty is limited to parts that are repaired or replaced by the Altec Service Group. Authorization and coverage of this

warranty will be at the discretion of the Altec Service Group.

Accessory items are excluded from this warranty and will be warranted from the original manufacturer.
This limited warranty is expressly in lieu of any other warranties, express or implied, including, but not limited to, any warranty of
merchantability or fitness for a particular purpose. Except as specified above, no associate, agent or representative of Altec is
authorized to extend any warranty on Altec's behalf. Remedies under this limited warranty are expressly limited to the provision
and installation of parts and labor, as specified above, and any claims for other loss or damages of any type (including, but not
limited to, loss from failure of the product to operate for any period of time, other economic or moral loss, or direct, immediate,

Ser War 2-10 Altec Industries, Inc.

V2 10/06/23

Page 2 of 2



Rpl WIS

Rpl Lt Frt Tire

Rpl Engine Long Block #DR776BRX:CX

Engine Core




Rpl Hood Seal Recirc Assy #38797C4.:IH

Rpl Lt Wiper Arm Assy #3535049C2:|H

Rpl Rt Wiper Arm Assy #3535050C3:IH

Rpl Both Wiper Blades #91005222:R61

Rpl Both Cummins Graphic #4096176C1:IH

Rpl Both Hood Graphic Cummins #4098274C1:IH

Rpl Radiator Outlet Pipe Engine #4075689C2:IH

Rpl Radiator Hose Outlet Engine #4075688C2:IH

Rpl Radiator Outlet Hose #3879521C1:IH

Rpl Radiator Inlet Hose Engine #4075686C2:1H

Rpl Radiator Module Assy #2522406C91:IH

Rpl Radiator, Surge Tank Assy #2516757C2:1H

Rpl Heator Hoses 6 #L2643493:IH

Rpl Module Charge Air Cooler #2522407C91:1H

Rpl Pipe, Mid-High O/C Hard Line Fe #2601798C91:IH

Rpl Fan Clutch DMA2S SE 24 #HOR99A82432:161

Rpl Hood Assy #4088267C91:1H

RplFrt Bumper Assy #3610930C3:IH

Rpl Bar, Hood Assist Torsion, Mid #3558736C2:1H

Rpl Bar Hood Pivot Assist Torsion RT #3558737C2:IH

Enﬂine Insulator Rear Mt 2 #3549169C2:IH

* Fabricated Parts :

* SMC Adhesives, Fiberglass Material & Misc. Supplies




Rp! Lt Frt Fender Ext #3566716C4:IH

Rpl Power Steering Reservoir #4043002C92:1H

Rpl Frt Grille Assy #FLTG3551015:IH

Rpl Rt H/L Assy #FLTHL3765680:IH

Rpl Lt H/L Assy #FLTHL3765679:IH

Rpl Lt Frt Fender Mirror Assy #3554617C3:IH

Rpl Rt Frt Fender Mirror Assy #3554618C3.1H

Rpl Lt Side Rear View Mirror Assy #4045612C%4

Rpl Lt Outside Door Handle #4053943C93:1H

Rpl Both Hood Straps #3544924C1:IH

Rpl Radiator Support Rod #3605648C2:IH

Rpl Radiator Suuport Rod Stay #3564534C2:1H

Rpl Wiper Motor Baffle Cover Cowl #3710650C3:1H

Rpl Lt Cab Door Shell #4172798WS1E:IH

Rpl Reman Gear Box Steering #ZRXHD84PQ:ISH

Reman Gear Box Core #ZRXHD94PQ:ISH

Rpl W/S Washer Tank Assy W/O Sensor #3728178C92:IH

Rpl Hose, Flexible Air, 4" #3558834C2:IH

Rpl Hose, Flexible Air, Cac 3.5 DI #3558834C2:|H

* Fabricated Parts :
* SMC Adhesives, Fuurilm Material & Misc. Supplies




Rpl Radiator Module, Rt Hand Side #2522413C91

Rpl Radiator Module, Left Hand Side #2522412C91:1H

Rpl Frame Kit Radiator Top #2601780C891:IH

Rpl A/IC Condense#2519439C1:IH

Rpl Lt Panel Splash Assy #3830912C93:IH

Rpl Lt Frt Rim White Steel #29038PKWHT21:AWE

Rpl 2 Spring Hood Cable Drive Plus #3598407C1:IH

Rpl All Frt Bumper Bolts 4 #3579048C1:IH

Rpl All 4 Spﬂgg Hood Cables #580279C2
Rpl Housing Flywheel #5339507:CE

Rpl Oil Seal #5405392:CE

Rpl Oil Pan Gasket #3930408:CE

Rpl Flexplate #3937020:CE

Rpl Frt Engine Insulators #1664723C5:/H

Rpl 2 M16 X 10MM Bolts #31077R1:IH

Rpl 2 Bolt Hex Fig HD Metric M16X3 #40203R1:1H

Rpl Fuel Filter #5303742:CE

Rpl Auto All-300RDS #3000RDSWEL:WEL




2 55-158 Intt-Nav F Spr LVS:7/SE

[4 HT7832 Threaded Rod 7/8X32 Grade B

8 DN5 Deep Nut (7/8-14)

8 UBWS80 "U-Bolt Washers (7/8"") Hardened

1 Power Steering Filter

Pitman Arm

Draglink




Misc Frame [ Huck Bolts




Part #

Description

035610028

FILLER BREATHER; HYDRAULIC;
EXTERNAL TANK MOUNT; 10 MICRON;
NITRILE (BUNA-N/NBR) SEALS; 7.50
INCH DIPSTICK

970100835

PLACARD;ENGLISH;INFORMATION;;;SE
RVICE TESTING;PUNCH HOLE
STYLE;SOLD INDIVIDUALLY ;s

970144852

PLACARD; US DOT ANNUAL
INSPECTION

970288189

FILTER ELEMENT; HYDRAULIC;
RETURN; ELEMENT ONLY; 10 MICRON
ABSOLUTE; INORGANIC MICROFIBER;
30 GPM; 145 PSI; NITRILE (BUNA-
N/NBR) SEALS

991214837

STREETSIDE SIDEPACK;;CITY OF
COLUMBUS;150.00 IN L;46.00 IN H;18.00
IN W:;




